A
2
B

o1
ot

2ATTEFPER

iR - REEBC (T A

HIFY R
EREENIE T BRI 1715
#xt THEFRE 17:30

B B B A T E Sy ] B |4’
IO e - 0 0 0 0 O olzn|e
1 | x [BFEFTHLEIRAR. SFEABFRIIRE 9/9/0/0 0 ofwn|e
X x | 17:30 | ~
= -y O O O O O O|11:35] @
2 2 |FAXRBAR. 70795580\ B 0 0 0 0 0 O|uwwn|e
0 0/ 0 0 0 0 °
VA AN R R BTEE ) %
3 Eis AN AN ANV AN WAl Vs
Al -
A A AN B
4 H Al A 21~
660606 06 6f|wsle
5 SFRHFHET RO FE 0 0 0 0 0 O|wxn|e
55688 olin|e
6 x [3FEZHFHETANOHKF 0 0 0 0 0 O|uwxn|e
55688 Sl e
= —_ R X :
7 Kk |SERHFHETANOHKF 00000 x| . |e
55688 Slwile
8 x 0 0 0/ 0 o|ld|mwm| e
AR ARARS IR IRS .
IV, R - . x [15:10
9 | ¢ |FIEAERKGERER (SFREIRE, BEF L) 010191010 xfwm| e
X
VAN R Rl BTEE ) %
10 = 2 V2 N2 B2 V2 B2 2 2
Al -
= . - 72 7 WA WA A 2 A
11 B |BEZRS0OAH. HEENE1LE(~150) AAAAAAAAN T
Al -
72 7 WA WA 7 2 A
12 REAB AN
Al -
0 0 0 0 O O3] e
13 *% olo oo ool |e
0 0/ 0 0 0 0 °
= — . 7 7 7 O O x|15:10| @
14 X [1-2F%HAFFMETANOHKF 7 7 7060 x| |e
0 0/ 0 0 O x °
R 0 g 5 7 7 0 O of|wwo[e
15 x [1-25%HA5HET RO E ., BEENEHEG g g g c ool /e
[ . o, = g > 5 7 0 O O|5w| @
16 = [1-2F%EAFETRNOEF . TOT U508\ DA, IFEFEPTA g g g 0 0 ol e
X | 17:30
VAR AN R R BT %
17 = 2 V2 P2 B2 2 B2 20 2
Al -
72 7 WA WA 7 2 A
18 B 2| WA 2 W2 W2 4 A 2
Al -
0 0 0 0 O O3] e
19 0 0 0l 0 olo|irs|e
S8 806 oliwunle
20 X O 0 0 0 0 of|iws|e
S8 886 %lnle
X M
21 Xk olo oo o x| |e
S 8886 x|iule
— ° - s x :
22 VN #ﬁ%%}ﬁﬁ@"]'2$¢PTA\77709’)75\L\0)E 8 8 8 O O x|17:30| @
0 O x °
_ 72 7 WA WA A 2 A
23 < |XEf4AH AAAA AN
Al -
A A RN BT 7
24 = AAAAAAAAAN -
Al >
72 72 WA WA A 2 A
25 = A AV AN IV 4
Al >
ot 0 0 0/ 0 O O|ws|e
26 1-2F5E8MH 0 0 0l 0 olo|is|e
S8 88 6 oliuunle
27 X 0 0 0 0 0 of|ii|e
S8 886 %lmule
X M
28 Kk 0 0 00 olx| |e
I
29 =« 0 0 0l 0 olo|is|e
0 0/ 0/ 0 0 0 °
14 24 kE=3
fiw mE 19 19 19
BwE 19 19 18

KBEATEROD~OIX 11~ 6HERT




